
1

Russia

Saudi Arabia

Switzerland

Venezuela

2

Belize

Belarus

Thailand

Suriname 

3

Kuwait

Montenegro

Bahamas

Portugal 

4

Oman

Ukraine

Jordan

Jamaica

5

Ghana

Iraq

Nicaragua

Dominica 

6

Sudan

Azerbaijan

Armenia

Colombia

7

Chile

Latvia

Croatia

Romania

8

United Kingdom

China

Cyprus

Malta

9

Macedonia

Ecuador

Belgium

Turkey

10

Turkmenistan

Kenya

Yemen

Zambia

11

Pakistan

Senegal

Maldives

Djibouti

12

Philippines 

Sri Lanka

Tunisia

Saint Vincent

13

Haiti

Iran

Peru

Georgia

14

United Arab Emirates

Saudi Arabia

Luxembourg

Italy

15

Israel

Singapore

Liechtenstein

Brazil

16

Uzbekistan

Kyrgyzstan

Bangladesh 

Namibia

17

Micronesia

Kiribati 

Vietnam

Turkey

18

Slovenia

Bahrain

Kuwait

Mexico

19

Grenada

Brunei

Costa Rica

Albania 

20

Nepal

Indonesia

Honduras

Botswana

21

China

Cuba

South Africa

India

22

India

Bhutan

Cambodia

Uganda

23

Mongolia

Laos

Papua New Guinea

Guyana

24

Eritrea

Tonga

Fiji

Gabon

25

Afghanistan

Bolivia

Dominican Republic

Turkmenistan

26

Argentina

Croatia

Andorra 

Malaysia

27

Ukraine

Mauritius

Timor Leste

Lebanon

28

Russia

United Arab Emirates

Saudi Arabia

Algeria

29

Cameroon

Tanzania

Nigeria

Morocco

30

Vanuatu

Rwanda

Burma

Yemen

31

Egypt

Syria

Bolivia

Azerbaijan

32

India

Niger

Tajikistan

Palestinian Territories 

33

Saint Lucia

China

El Salvador

Bolvia

34

Latvia

Serbia

Estonia

Lithuania

35

Central African Republic

Equatorial Guinea

Morocco

Indonesia

36

Kuwait

Azerbaijan 

Antigua and Barbuda

Qatar

Human Development Index: Which one does not belong? 
Identify the country that is not in the same category of the HDI as the other three. The four categories are: Very High, High,Medium, and Low


